  3rd term exam     1 am 

                                     Alexander Graham Bell was born in Edinburgh,Scotland on march3rd ,1847. His father was a professor he took him to Canada later and his mother encouraged him to master the piano even she was deaf so he became the family pianist.
                               In 1876 ,at the age of 29 he invented the telephone and in 1877,he formed the Bell telephone company and in the same year married  a deaf woman her name was Mabel Hubbard .So he continued his experiments with sounds and invented also the the photophone and too many inventions.
          

Comprehensions:  A/ Read and answer the questions :
                                                                                                                 ( 3 pts)
1*     Where was Graham Bell born ?

2*     Was his mother deaf ?

3*     What did he invent ?
   B/  " true " or " false".  t                                                 ( 3pts)                
1-   Graham Bell was British.
2-   In 1877,he invented the telephone.

3-    He lived in Canada.

Vocabularies :  c)-        
                                    Find in the text the meaning of:    (1pt)
1 founded    =………….

                           Find in the text  the opposite of :   
2 died=/=………….    
II/     Mastery of language :
A) complete using the following articles    a / an / the/ Ø:        (2 pts)
           yesterday, I visited ……exhibition in …..Algiers ,I went there with …..friend.
It was …….interesting but my friend didn’t like ……exhibition.
B ) give the correct form of the  verbs : 3pts
        Louis Braille ( to be ) blind so he (to decide ) to do a thing for the other blind people,   he ( to invent ) the Braille system.
C)-complete with words from the text according to their final « ed » 2pts

	
	      / id /
	     /  d/

	  
	1-


	 1-

 2-

 3-



 :                              

       Situation of integration : written production:  
6pts 
                                 Find A questions :
                              A : …………………………………….. ?

                                     B :  James Watt was born on jan 19th,1736.
                                     A :  …………………………………….?

                                     B :  He invented the “ steam engine “.

                                      A :  …………………………………….?

                                      B :  In 1769.

                                      A : ……………………………………..?

                                      B:  He was from Scotland.
